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Homework 20
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(2) ✗net = a Xn ( I - Xn )
(it ×, -_ I (0-5) (1-0.5)=0.25
Xz = / (0-25) (1-0-25)=0.187-5
✗3=110.1875)( I -0-(87-5)=0.152344
*4

= 110.152344) (1-0-152344)=0-129135
Xs- = I (0.129111-0-129)=0.1125
X6= I (0-1125) (1-0.1125)=0-0998
Xa = 110.0998/(1-0.0998)=0.08985
✗ s =/ (0.08985>(1-0.08985)--0.08178
✗ { = I (0-08178) (1-0-08178)=0.0751
Xo= I (0.07-51) (1-0-0751)=0.069451
Tends to 0.07

Iii) ✗ = 12 - 5) (o-5) (1-0-5)=0-625 liii) ✗ 1=3.1 (0-5/(1-0.5)=0.775
Xz= 0.585938 ✗2=0.540563

✗3=0-606537 ✗3=0-7699

X4= 0. 5966 ✗4=0.549178
✗5=0-601659 ✗5=0-7675

✗6=0.599164 ✗6=0.553171

✗7=0.600416 ✗7=0.766236

✗8=0.599791 ✗ 8=0.555267

✗9=0.600104 ✗9--0-765531

✗co = 0.599948 ✗10=0-556429

Tends to 0-6 . Tends to 0.766 and 0.556



liv) ✗ , = 3-5 ( 0.5) ( 1 - o -5)= 0.875

✗z = 0 - 38213

✗3 = 0-8269

✗4 = 0.500898

✗s = 0 . 875
✗6 = 0 . 38282

✗7 = G. 8 269

✗ 8 = 0 . 50 084

✗a = 0 . 874997
✗co = 0.38282

Tends to 0.38
,
0 . 87

,

0 . 5

(3) Feigenbaum constant - universal constant for functions approaching chaos via doubling .


